
���ل ���� ا���ھــــــــــــــــــــــــــ�                     : ا����ذ         ر
���ـــــــــــــــــ�ت                                                                                                     : ا���دة �
   2005/  11/  05: ا���ر
(  ا�)�ض ا�ول ��"&%$ ا�ول                          ا�"�!�  ����ـــ�             : ا�����ى 

    و ��: ا��07��ا�8�9  ا�7ـــــــــــــــــــــــــــــــــ6   ا�����ر أو ا���34  ا�2)�ءات ا����0   ا��/�ل
  أ!;� 
 
  >�د

  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

  أ!;� 
  ھ��7� 

	�ظ�� ���� 
ا���ا�� ا��� أ��ت 

��ب ا������ت  ��
� ا���اد ��

ا�! ���� وا���اد 
  ا��$#"�

  
  
  
  
  
  
  
  
  
  
  
  
  
  
  

	! �& %�ا�� 
ا,+$�ءات ا�()�'�� 
  ا��� أ��ت �� ��ب

  إ+$�ء أ0/�ل ھ)�'��
�!�2�  

إ�#اء  	! �& %���ةـ 
'��2� �����ت 	�5�6 

  أ%�اس
  

  	�ظ�� %���ة 	�ز"�* 
ا�6#ب ��� ا�:�� 

وإ'����ل أو��"� 
  ا�;�2ب

  
  

�ة أو��"� 	�ظ�� %��
  ا�;�2ب �� � �رة 

  
  
  
  

	�ظ�� %���ة 
ا?!<=�ت ا�/���� و 

  أو��"� ا�;�2ب
  
  

	�ظ�� �A@�� إ+$�ء 
C�� D�!�2E إ=�ى 

F"#!%  
ـ إ+$�ء 5ّ��E ��'����ل 

F"#!% �=أ  
ـ إ+$�ء 5ّ��E ط�ل 

F��J "�2وي ط�ل 
  %!#ه

  ) !�0   14( ا����
= ا�ول 
  =�D   Mأ=L2 ا�� �رة  ) 1(

 ) ]4  +7  ( × )4 – 9  ) ] + [ (2  ÷6  (– 8  = [D  )3(  
 )2  (  

 5E س��Aأ �د")�ر ^�5 0#اء أر�� ��_�E #����� &د�� ر��
 8.50و  25ا�;��L و أر�� � `ات '�# E DA)(� ����")�ر 

 L�	#ا�� ���.  
  )3.............( ـ CA د")�را "F���2 ر��& fA#ف 5E ا����# ؟ 

  
)3(  ..........................)....................................3(  

 DE�� Dg�$"38  Fg� E � 	را �J���" ���� 'أ ���'
  د")�را ��2��17.5� ا��ا=�ة و5E ا�#ا	Cfh" L  ����250")�ر

 �������jت ا��@(��  
  أL�A � �رة �;�2ب ا�#ا	L ا�' ��� ا����f �(�ا ا���DE ؟ 

  
)4 (  

     Aأ=L2 ����5 ا�� �رة 

   
4.68

5.13.22.7

−

+ x
  =A   )...................................4(  

  
  )!0�  06( ا����
= ا�"�!$ 

1 ( >�!�2E l�� 2!#ة���� C'أرABCD  6ط�ل %!#هcm  
)..................................................................2(  

2] (AB [ C���2E ��!%  
 * F"#!% �=أ �(��E C'أر]AB. [)........................2(  
  )2...(أر'C ا����5ّ ا��ي ط�ل F��J "�2وي ط�ل %!#ه * 


= ا�ول ��E FG )14   �0! (  
)1 (  ]11   ×5  ] + [3 – 8  = [D )....................1(  

                             55  +5  =D ).....................1(  
                                   60  =D )......................1(  

 )2  (  
  ا�� �r ا��ي "F���2 ر��& fA#ف 

  )]8.50  ×4  ) + (25  ×4  [ (– 200 )..............1(  
                     )34  +100  (– 200 )...............=1(  

                                  134  - 200) ............=0.5(  
                                         DA66) ............=0.5(  
)3(  

  ا��� 	�/))� 5E =�2ب ا�#ا	L ا�' ��� ا����f ا�� �رة
        17.5 – 250  ×38 )..............................1(  
        17.5 – 9500  )................................ =1(  

              9482.5  )....................................=1(  
)4(  
 )6.4 – 8 ( ÷ )1.5  ×2.3  +7.2  = (A )...........1(  

                 1.6  ÷ )3.45  +7.2  = (A )............1(  
                             1.6  ÷10.65  =A )............1(  

                                        6.65  =A ).............1(  
  )!0�  FG )6 ا����
= ا�"�!$ 

1 (  
                                                                    )2(                                                                             

  
2 (  

                                                                       )2(  
  
  

                                                                       )2(  
  



http://elbassair.net 


